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QUESTION 1

Arthur Dace, a plan member of the Bloom Health Plan, tried repeatedly over an extended period to schedule an
appointment with Dr. Pyle, his primary care physician (PCP). Mr. Dace informally surveyed other Bloom plan members
and found that many people were experiencing similar problems getting an appointment with this particular provider. Mr.
Dace threatened to take legal action against Bloom, alleging that the health plan had deliberately allowed a large
number of patients to select Dr. Pyle as their PCP, thus making it difficult for patients to make appointments with Dr.
Pyle. Bloom recommended, and Mr. Dace agreed to use, an alternative dispute resolution (ADR) method that is quicker
and less expensive than litigation. Under this ADR method, both Bloom and Mr. Dace presented their evidence to a
panel of medical and legal experts, who issued a decision that Bloom\\'s utilization management practices in this case
did not constitute a form of abuse. The panel\\'s decision is legally binding on both parties. 

This information indicates that Bloom resolved its dispute with Mr. Dace by using an ADR method known as: 

A. Corporate risk management 

B. An ombudsman program 

C. An ethics committee 

D. Arbitration 

Correct Answer: D 

 

QUESTION 2

The Sawgrass Health Center is an institution that trains healthcare professionals and performs various clinical and other
types of healthcare-related research. Because Sawgrass receives government funding, it is required to provide medical
care for the poor. Of the following types of health plans, Sawgrass can best be described as: 

A. A medical foundation 

B. An academic medical center (AMC) 

C. A healthcare cooperative 

D. A community health center (CHC) 

Correct Answer: B 

 

QUESTION 3

Several states have adopted clinical practice guidelines for treating workers\\' compensation injuries. Clinical practice
guidelines can best be described as 

A. Fee schedules that specify the maximum amount providers may charge for treating workers\\' compensation patients 

B. A utilization management and quality management mechanism designed to aid providers in making decisions about
the most appropriate course of treatment for a specific case 

C. Detailed plans of medical treatment designed to facilitate a patient\\'s return to the workplace 
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D. Payment practices that might technically violate the provisions of the anti-kickback statute but that will not be
considered illegal and for which providers and health plans will not be subject to penalties 

Correct Answer: B 

 

QUESTION 4

Health plans should monitor changes in the environment and emerging trends, because changes in society will affect
the managed care industry. One true statement regarding recent changes in the environment in which health plans
operate is that 

A. Women as a group receive more healthcare and interact more often with health plans than do men over the course of
a lifetime 

B. The focus of healthcare during the past decade has shifted away from outpatient care to inpatient hospital treatment 

C. The uninsured population in the United States has been decreasing in recent years 

D. The decline in overall inflation in the 1990s failed to slow the growth in healthcare inflation 

Correct Answer: A 

 

QUESTION 5

States may impose nominal deductibles, coinsurance, or copayments on some Medicaid recipients for certain services.
Services for which states can require copayments from Medicaid recipients include: 

A. Emergency services 

B. Family planning services 

C. Both A and B 

D. A only 

E. B only 

F. Neither A nor B 

Correct Answer: D 
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